

County Distribution Detail Report through 11/04/2024

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,164	2,193	27	3,384	\$6,768.00	\$145.79	\$6,622.21	0.70	\$4,635.55
							Entity '	Total:	\$4,635.55
							Adjust	ment:	\$0.00
							Total A	Amount:	\$4,635.55
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,327	11,873	2,727	15,927	\$31,854.00	\$621.20	\$31,232.80	0.70	\$21,862.96
							Entity ¹	Total:	\$21,862.96
							Adjust	ment:	\$0.00
							Total A	Amount:	\$21,862.96
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	799	1,302	3	2,104	\$4,208.00	\$92.92	\$4,115.08	0.70	\$2,880.56
							Entity ¹	Total:	\$2,880.56
							Adjust	ment:	\$0.00
							Total A	Amount:	\$2,880.56
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,373	4,490	87	5,950	\$11,900.00	\$242.06	\$11,657.94	0.70	\$8,160.56
							Entity ¹	Total:	\$8,160.56
							Adjust	ment:	\$0.00
							Total A	Amount:	\$8,160.56

Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	8,391	24,583	1,374	34,348	\$68,696.00	\$1,436.89	\$67,259.11	0.70	\$47,081.38
							Entity '	Total:	\$47,081.38
							Adjust	ment:	\$0.00
							Total A	mount:	\$47,081.38
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	4,715	29,946	3,095	37,756	\$75,512.00	\$1,577.21	\$73,934.79	0.70	\$51,754.35
							Entity ¹	Total:	\$51,754.35
							Adjust	ment:	\$0.00
							Total A	mount:	\$51,754.35
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	2,052	4,112	83	6,247	\$12,494.00	\$251.84	\$12,242.16	0.70	\$8,569.51
							Entity ¹	Total:	\$8,569.51
							Adjust	ment:	\$0.00
							Total A	mount:	\$8,569.51
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	527	527	1	1,055	\$2,110.00	\$42.20	\$2,067.80	0.70	\$1,447.46
							Entity ¹	Total:	\$1,447.46
							Adjust	ment:	\$0.00
							Total A	mount:	\$1,447.46
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,459	7,466	302	9,227	\$18,454.00	\$387.26	\$18,066.74	0.70	\$12,646.72
							Entity [*]	Total:	\$12,646.72
							Adjust	ment:	\$0.00
							Total A	mount:	\$12,646.72
Campbell									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	523	1,424	15	1,962	\$3,924.00	\$85.20	\$3,838.80	0.70	\$2,687.16
							Entity ⁻	Γotal:	\$2,687.16
							Adjust		\$0.00
							_	mount:	\$2,687.16
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	2,043	6,010	17	8,070	\$16,140.00	\$324.91	\$15,815.09	0.70	\$11,070.56
							Entity ⁻	Γotal:	\$11,070.56
							Adjust	ment:	\$0.00
							Total A	mount:	\$11,070.56
City of Box Elder, M	leade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	2	3,054	62	3,118	\$6,236.00	\$125.15	\$6,110.85	0.70	\$4,277.60
							Entity ⁻	Γotal:	\$4,277.60
							Adjust	ment:	\$0.00
							Total A	mount:	\$4,277.60
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	463	3,462	101	4,026	\$8,052.00	\$195.97	\$7,856.03	0.70	\$5,499.22
							Entity ⁻	Γotal:	\$5,499.22
							Adjust	ment:	\$0.00
							Total A	mount:	\$5,499.22
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,492	12,142	1,891	15,525	\$31,050.00	\$628.52	\$30,421.48	0.70	\$21,295.04
9/2024	1,492	12,142	1,891	15,525	\$31,050.00	\$628.52	\$30,421.48 Entity ⁻		\$21,295.04 \$21,295.04
9/2024	1,492	12,142	1,891	15,525	\$31,050.00	\$628.52		Γotal:	

City of Sioux Falls, Lincoln (**VOIP Lines Reporting Period Telecom Lines** Wireless Lines **Total Lines** Surcharge **Admin Fee Net Surcharge Entity Percent Entity Amount** 1,074 35,444 \$82,250.16 9/2024 \$83,916.00 \$1,665.84 0.70 5,440 41,958 \$57,575.11 **Entity Total:** \$57,575.11 Adjustment: \$0.00 **Total Amount:** \$57,575.11 Clark Wireless Lines **Reporting Period Telecom Lines VOIP Lines Total Lines Entity Percent** Surcharge Admin Fee **Net Surcharge Entity Amount** 9/2024 933 2,661 79 3,673 \$7,346.00 \$155.50 \$7,190.50 0.70 \$5,033.35 C C

							Entity [·] Adjust Total A		\$5,033.35 \$0.00 \$5,033.35
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	850	8,346	736	9,932	\$19,864.00	\$415.19	\$19,448.81	0.70	\$13,614.17
							Entity ⁻	Total:	\$13,614.17
							Adjust	ment:	\$0.00
							Total A	mount:	\$13,614.17
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	2,689	21,566	3,109	27,364	\$54,728.00	\$1,158.28	\$53,569.72	0.70	\$37,498.80
							Entity ⁻	Total:	\$37,498.80
							Adjust	ment:	\$0.00
							Total A	mount:	\$37,498.80
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	589	1,136	541	2,266	\$4,532.00	\$96.29	\$4,435.71	0.70	\$3,105.00
							Entity ⁻	Total:	\$3,105.00
							Adjust	ment:	\$0.00

							Total A	amount:	\$3,105.00
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	2,686	7,143	64	9,893	\$19,786.00	\$428.07	\$19,357.93	0.70	\$13,550.55
							Entity ⁻	Total:	\$13,550.55
							Adjust	ment:	\$0.00
							Total A	amount:	\$13,550.55
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	2,658	16,114	1,565	20,337	\$40,674.00	\$848.35	\$39,825.65	0.70	\$27,877.96
							Entity ⁻	Total:	\$27,877.96
							Adjust	ment:	\$0.00
							Total A	amount:	\$27,877.96
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,368	3,963	228	5,559	\$11,118.00	\$226.02	\$10,891.98	0.70	\$7,624.39
							Entity ⁻	Total:	\$7,624.39
							Adjust	ment:	\$0.00
							Total A	amount:	\$7,624.39
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,265	3,356	133	4,754	\$9,508.00	\$195.57	\$9,312.43	0.70	\$6,518.70
							Entity ⁻	Total:	\$6,518.70
							Adjust	ment:	\$0.00
							Total A	amount:	\$6,518.70
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	949	2,333	8	3,290	\$6,580.00	\$134.90	\$6,445.10	0.70	\$4,511.57
							Entity ⁻	Total:	\$4,511.57

							Adjusti	ment:	\$0.00
							Total A	mount:	\$4,511.57
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	844	3,233	137	4,214	\$8,428.00	\$169.97	\$8,258.03	0.70	\$5,780.62
							Entity 1	Γotal:	\$5,780.62
							Adjusti	ment:	\$0.00
							Total A	mount:	\$5,780.62
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	2,387	5,408	36	7,831	\$15,662.00	\$322.62	\$15,339.38	0.70	\$10,737.57
							Entity 1	Γotal:	\$10,737.57
							Adjusti	ment:	\$0.00
							Total A	mount:	\$10,737.57
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	575	1,725	45	2,345	\$4,690.00	\$93.95	\$4,596.05	0.70	\$3,217.24
							Entity 1	Γotal:	\$3,217.24
							Adjusti	ment:	\$0.00
							Total A	mount:	\$3,217.24
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,009	5,889	526	7,424	\$14,848.00	\$331.05	\$14,516.95	0.70	\$10,161.87
							Entity 1	Γotal:	\$10,161.87
							Adjusti	ment:	\$0.00
							Total A	mount:	\$10,161.87
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,420	3,661	8	5,089	\$10,178.00	\$232.25	\$9,945.75	0.70	\$6,962.03

							Entity 1	Total:	\$6,962.03
							Adjust	ment:	\$0.00
							Total A	amount:	\$6,962.03
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	836	1,409	3	2,248	\$4,496.00	\$90.74	\$4,405.26	0.70	\$3,083.68
							Entity 1	Total:	\$3,083.68
							Adjust	ment:	\$0.00
							Total A	amount:	\$3,083.68
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,131	4,485	117	5,733	\$11,466.00	\$231.72	\$11,234.28	0.70	\$7,864.00
							Entity 1	Total:	\$7,864.00
							Adjust	ment:	\$0.00
							Total A	amount:	\$7,864.00
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	523	2,816	401	3,740	\$7,480.00	\$154.23	\$7,325.77	0.70	\$5,128.04
							Entity 1	Total:	\$5,128.04
							Adjust	ment:	\$0.00
							Total A	amount:	\$5,128.04
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	607	3,326	82	4,015	\$8,030.00	\$175.51	\$7,854.49	0.70	\$5,498.14
							Entity	Total:	\$5,498.14
							Adjust	ment:	\$0.00
							Total A	amount:	\$5,498.14

Harding

Reporting Period

Telecom Lines

Wireless Lines

VOIP Lines

Total Lines

Surcharge

Admin Fee

Net Surcharge

Entity Percent

Entity Amount

9/2024	565	905	1	1,471	\$2,942.00	\$67.34	\$2,874.66	0.70	\$2,012.26
							Entity 1	Γotal:	\$2,012.26
							Adjusti	ment:	\$0.00
							Total A		\$2,012.26
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	496	3,324	167	3,987	\$7,974.00	\$196.11	\$7,777.89	0.70	\$5,444.52
							Entity 1	Γotal:	\$5,444.52
							Adjusti	ment:	\$0.00
							Total A	mount:	\$5,444.52
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	2,144	5,624	36	7,804	\$15,608.00	\$314.33	\$15,293.67	0.70	\$10,705.57
							Entity 1	Γotal:	\$10,705.57
							Adjusti	ment:	\$0.00
							Total A	mount:	\$10,705.57
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	529	1,035	11	1,575	\$3,150.00	\$63.40	\$3,086.60	0.70	\$2,160.62
							Entity 1	Γotal:	\$2,160.62
							Adjusti	ment:	\$0.00
							Total A	mount:	\$2,160.62
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	516	987	8	1,511	\$3,022.00	\$60.67	\$2,961.33	0.70	\$2,072.93
							Entity 1	Γotal:	\$2,072.93
							Adjusti	ment:	\$0.00
							Total A	mount:	\$2,072.93
Jerauld									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	642	1,459	17	2,118	\$4,236.00	\$84.87	\$4,151.13	0.70	\$2,905.79
							Entity ⁻	Total:	\$2,905.79
							Adjust	ment:	\$0.00
							Total A	mount:	\$2,905.79
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	410	739	5	1,154	\$2,308.00	\$46.89	\$2,261.11	0.70	\$1,582.78
							Entity ⁻	Total:	\$1,582.78
							Adjust	ment:	\$0.00
							Total A	mount:	\$1,582.78
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	644	4,180	293	5,117	\$10,234.00	\$223.22	\$10,010.78	0.70	\$7,007.55
							Entity ⁻	Total:	\$7,007.55
							Adjust	ment:	\$0.00
							Total A	mount:	\$7,007.55
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,480	10,007	737	12,224	\$24,448.00	\$533.38	\$23,914.62	0.70	\$16,740.23
							Entity ⁻	Total:	\$16,740.23
							Adjust	ment:	\$0.00
							Total A	mount:	\$16,740.23
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	3,996	20,422	1,723	26,141	\$52,282.00	\$1,099.98	\$51,182.02	0.70	\$35,827.41
							Entity ⁻	Total:	\$35,827.41
							Adjust	ment:	\$0.00
							Total A	mount:	\$35,827.41
Lincoln									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,644	28,831	4,191	34,666	\$69,332.00	\$1,528.36	\$67,803.64	0.70	\$47,462.55
							Entity ⁻	Total:	\$47,462.55
							Adjust		\$0.00
							_	mount:	\$47,462.55
Lyman									, ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	981	1,977	353	3,311	\$6,622.00	\$133.07	\$6,488.93	0.70	\$4,542.25
							Entity ⁻	Total:	\$4,542.25
							Adjust	ment:	\$0.00
							Total A	amount:	\$4,542.25
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,171	3,337	156	4,664	\$9,328.00	\$196.49	\$9,131.51	0.70	\$6,392.06
							Entity ⁻	Total:	\$6,392.06
							Entity [·] Adjust		\$6,392.06 \$0.00
							Adjust		
McCook							Adjust	ment:	\$0.00
McCook Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Adjust	ment:	\$0.00
	Telecom Lines	Wireless Lines 4,719	VOIP Lines	Total Lines 6,150	Surcharge \$12,300.00	Admin Fee \$249.79	Adjust	ment: .mount:	\$0.00 \$6,392.06
Reporting Period							Adjust Total A Net Surcharge	ment: amount: Entity Percent 0.70	\$0.00 \$6,392.06 Entity Amount
Reporting Period							Adjusti Total A Net Surcharge \$12,050.21	ment: Amount: Entity Percent 0.70 Total:	\$0.00 \$6,392.06 Entity Amount \$8,435.15
Reporting Period							Adjust Total A Net Surcharge \$12,050.21 Entity	ment: Amount: Entity Percent 0.70 Total:	\$0.00 \$6,392.06 Entity Amount \$8,435.15 \$8,435.15
Reporting Period							Adjust Total A Net Surcharge \$12,050.21 Entity	ment: Entity Percent 0.70 Total: ment:	\$0.00 \$6,392.06 Entity Amount \$8,435.15 \$8,435.15 \$0.00
Reporting Period 9/2024							Adjust Total A Net Surcharge \$12,050.21 Entity	ment: Entity Percent 0.70 Total: ment:	\$0.00 \$6,392.06 Entity Amount \$8,435.15 \$8,435.15 \$0.00
Reporting Period 9/2024 McPherson	1,422	4,719	9	6,150	\$12,300.00	\$249.79	Adjust Total A Net Surcharge \$12,050.21 Entity Adjust Total A	ment: Entity Percent 0.70 Total: ment: amount:	\$0.00 \$6,392.06 Entity Amount \$8,435.15 \$8,435.15 \$0.00 \$8,435.15
Reporting Period 9/2024 McPherson Reporting Period	1,422 Telecom Lines	4,719 Wireless Lines	9 VOIP Lines	6,150 Total Lines	\$12,300.00 Surcharge	\$249.79 Admin Fee	Adjust Total A Net Surcharge \$12,050.21 Entity Adjust Total A	Entity Percent 0.70 Total: ment: mount: Entity Percent 0.70	\$0.00 \$6,392.06 Entity Amount \$8,435.15 \$0.00 \$8,435.15
Reporting Period 9/2024 McPherson Reporting Period	1,422 Telecom Lines	4,719 Wireless Lines	9 VOIP Lines	6,150 Total Lines	\$12,300.00 Surcharge	\$249.79 Admin Fee	Adjusting Total A Net Surcharge \$12,050.21 Entity Adjusting Total A Net Surcharge \$4,715.85	ment: mount: Entity Percent 0.70 Total: ment: mount: Entity Percent 0.70 Total:	\$0.00 \$6,392.06 Entity Amount \$8,435.15 \$0.00 \$8,435.15 Entity Amount \$3,301.10

Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,635	21,321	977	23,933	\$47,866.00	\$1,006.15	\$46,859.85	0.70	\$32,801.90
							Entity ⁻	Total:	\$32,801.90
							Adjust	ment:	\$0.00
							Total A	mount:	\$32,801.90
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	477	743	41	1,261	\$2,522.00	\$50.82	\$2,471.18	0.70	\$1,729.83
							Entity ⁻	Total:	\$1,729.83
							Adjust	ment:	\$0.00
							Total A	amount:	\$1,729.83
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	784	1,783	21	2,588	\$5,176.00	\$104.34	\$5,071.66	0.70	\$3,550.16
							Entity ⁻	Total:	\$3,550.16
							Adjust	ment:	\$0.00
							Total A	mount:	\$3,550.16
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	16,948	167,390	18,094	202,432	\$404,864.00	\$8,650.37	\$396,213.63	0.70	\$277,349.54
							Entity ⁻	Total:	\$277,349.54
							Adjust	ment:	\$0.00
							Total A	mount:	\$277,349.54
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	785	5,271	129	6,185	\$12,370.00	\$267.15	\$12,102.85	0.70	\$8,472.00
							Entity ⁻	Total:	\$8,472.00

Adjustment:

\$0.00

Pennington							Total A	anount.	φ0,472.00
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	10,958	94,074	9,819	114,851	\$229,702.00	\$4,878.11	\$224,823.89	0.70	\$157,376.72
							Entity ⁻	Total:	\$157,376.72
							Adjust	ment:	\$0.00
							Total A	amount:	\$157,376.72
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,455	2,424	5	3,884	\$7,768.00	\$165.22	\$7,602.78	0.70	\$5,321.95
							Entity ⁻	Total:	\$5,321.95
							Adjust	ment:	\$0.00
							Total A	amount:	\$5,321.95
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	849	1,986	21	2,856	\$5,712.00	\$114.95	\$5,597.05	0.70	\$3,917.94
							Entity ⁻	Total:	\$3,917.94
							Adjust	ment:	\$0.00
							Total A	amount:	\$3,917.94
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	2,635	5,759	30	8,424	\$16,848.00	\$361.04	\$16,486.96	0.70	\$11,540.87
							Entity ⁻	Total:	\$11,540.87
							Adjust	ment:	\$0.00
							Total A	amount:	\$11,540.87
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	602	1,942	13	2,557	\$5,114.00	\$104.32	\$5,009.68	0.70	\$3,506.78
							Entity ⁻	Total:	\$3,506.78

Total Amount:

\$8,472.00

							Adjustment:		\$0.00
							Total Amount:		\$3,506.78
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,126	4,972	459	6,557	\$13,114.00	\$273.22	\$12,840.78	0.70	\$8,988.55
							Entity Total:		\$8,988.55
							Adjustment:		\$0.00
							Total Amount:		\$8,988.55
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	299	2,482	361	3,142	\$6,284.00	\$132.12	\$6,151.88	0.70	\$4,306.32
							Entity Total:		\$4,306.32
							Adjustment:		\$0.00
							Total Amount:		\$4,306.32
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	512	1,341	4	1,857	\$3,714.00	\$76.16	\$3,637.84	0.70	\$2,546.49
							Entity Total:		\$2,546.49
							Adjustment:		\$0.00
							Total Amount:		\$2,546.49
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1	61	0	62	\$124.00	\$12.71	\$111.29	0.70	\$77.90
							Entity Total:		\$77.90
							Adjustment:		\$0.00
							Total Amount:		\$77.90
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,845	4,159	12	6,016	\$12,032.00	\$245.94	\$11,786.06	0.70	\$8,250.24

Entity Total:	\$8,250.24
Adjustment:	\$0.00

Total Amount: \$8,250.24

Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,333	7,080	84	8,497	\$16,994.00	\$342.75	\$16,651.25	0.70	\$11,655.88
							Entity Total: Adjustment: Total Amount:		\$11,655.88
									\$0.00
									\$11,655.88
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,796	12,152	617	14,565	\$29,130.00	\$693.82	\$28,436.18	0.70	\$19,905.33
							Entity Total: Adjustment: Total Amount:		\$19,905.33
									\$0.00
									\$19,905.33
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	1,161	3,980	544	5,685	\$11,370.00	\$239.58	\$11,130.42	0.70	\$7,791.29
							Entity Total: Adjustment: Total Amount:		\$7,791.29
									\$0.00
									\$7,791.29
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2024	2,152	19,276	1,862	23,290	\$46,580.00	\$969.31	\$45,610.69	0.70	\$31,927.48
							Entity Total: Adjustment: Total Amount:		\$31,927.48
									\$0.00
									\$31,927.48
TOTALS	115,460	694,004	63,848	873,312	\$1,746,624.00	\$36,879.30	\$1,709,744.70		